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QUESTION 1

Running the command fw ctl pstat | would return what information?
A. Additional hmem details

B. General Security Gateway statistics

C. Additional kmem details

D. Additional smem details

Correct Answer: B

QUESTION 2

You are configuring VTIs in a clustered environment. On Peer A the VTI name is VT_Cluster_GWA and on Peer B the
VTl name is VT_Cluster_GWB. You find that the route-based tunnel is not coming up. What could be the cause?

A. The names for your peers have been reversed.

B. You have not issued the command "vpn write config\\' command.
C. You have not licensed your gateways for VTIs.

D. All VTIs going to the same remote peer must have the same name.

Correct Answer: D

QUESTION 3

Your Customer would like to enable IPS in his Corporate Cluster, but he is concerned about high CPU usage because if
the IPS inspection. What feature would you configure to disable inspection if a high CPU usage develops?

A. Itis not possible. In this case no enable IPS

B. Bypass Under Load. (In IPS Option on Gateway Properties)
C. Bypass Inspection. (In IPS Option on Gateway Properties)
D. Disable Inspection. (In IPS Option on Gateway Properties)

Correct Answer: B

QUESTION 4
What command would you use to determine if a particular connection is being accelerated by SecureXL?

A. fw tab t connections u
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B. fw ctl kdebug
C. fwaccel stat
D. fwaccel conns

Correct Answer: D

QUESTION 5

Compare these two images to establish which blade/feature was disabled on the firewall.

= Check Point

SBOFTWARE TECHNOLOGIES LTD.

Before

2014 CheckPoint Softwars Technologes Ltd. 1
A. IPS
B. VPN
C. NAT
D. L2TP

Correct Answer: B
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